WORKSHEET

Q1. Fill in the blanks.

L 7 difference 70 Forty - five | minus

The answer of subtraction is known am .

The sign used for subtraction is called 3 JS
The difference of 14 and 7 is 7
Take away 10 from 80 gives "7 )]
'
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Q2. Do as directed.
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b. Subtract the following. (without borrowing)
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c. Cross out to subtract.
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d. Count backward and subtract,
23-S5=

23
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Q3. Solve tf;;questions.

2. Subtract the following.
7

b. Solveit,

Rohan has 25 toffees. He gives 15 toffees to his friend Rahul. How many toffees left
with him?

[' Number of'l_oﬁe:es Rohan has
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' Number of toffees he gives away '
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So, he has j__o toffees now.
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